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Math 212 Spring 2015 SHOW ALL YOUR WORK Quiz TWO

1. Consider the position vectors A = (—1,0,2), B = (2,2,0) and C= (4,—2,2) in R3,
a. (4 points) Find the general equation of the plane which goes through these three points in R3.
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A__éb. (2 points) Show that a normal vector for your plane in (a) is @ = 2 + 55 + 8k.
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gct (3 points) Show that the normal vector for the plane given in part (b) is not orthogonal to any
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of the position vectors A = (-1,0,2), B = (2,2,0) or C = (4,—2,2). Is this a surprise? EXPLAIN
YOUR ANSWER!
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